Going Up	





Imagine there is an amusement park ride that has a section shaped like this:
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Assume the shape of this section of the ride is described by the natural log function  ln(x)  in the region where x is greater than or equal to 1.  


On a day when the sun is directly overhead, the car on the ride is seen to climb in such a way as to increase its height above the ground at a constant rate. How does the shadow of the car move on the ground?


How does your response change if the shape of the ride is given as an always increasing function F(x)?
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